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o EXNT1 & 72 BREX 771E, HE(X — EX)? tHA77E. N
WE(X — EX)* NX 752, i Rvar(X) HD(X).
Fr/var(X) bRk Z.
o EHT1 (MILEHERAEN) ikvar(X) #AELE, MVe > 0, H

1
P(|X —EX|>¢) < 6—2var(X).

o if: {|X —EX|>¢}={(X - EX)?>¢&?},
MY = (X — EX)? A9 /R]RAER.
o HEILT.1. #FHvar(X) =0, WX BfL.
o if: Y >0 HEY =0, #Y =0, 1X =c = EX.

(RERGEiTA) BERLIT A hilfEd: mEE. KR



o EHT2. var(X) = EX? — (EX)2.
o if:

var(X) = B(X? —2X - EX + (EX)?) = EX? —

o HiAdh, HHIUBOESLR K~ T

o X LR MEARHI) Ty 2

var(aX + b) = a*var(X).
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(EX)2.




(3) RO A

Ab

P(Xyzzk)ZiETe y

k=0,1,2,-- .

o EX =\, HVEk = 1, kp,, = App_1. KL,
E2pe = Mepr—1 = M\pp—1 + Mk — Dpp—1 = Npp_a, Yk =2
o B, Vk > 2,
k(k —1D)pr = Mk — Dpr—1 = N pp_o.
o T, EX(X —1) = A2, )\ifj

var(X) = EX? —(EX)? = EX(X — 1)+ EX — (EX)? = \.
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o EX =np, HV1 <k < n,
k-b(n;k) =np-bn—1,k—1).
o V2 < k <n,

kE(k—1)-b(n;k) =np-(k—1)-b(n—1,k—1)
=np-(n—1)p-bn—2k—2)

o TR, EX(X —1)=np(n—1)p = (np)? — np?, I\ifij

D(X)=EX?’—(EX)? = EX(X — 1)+ EX —(EX)? = npq.

hilfEd: mEE. KR



2mo

o #ip=FEX=0,0%=1, N,

2 Ty 1 z?
var(X) =FEX* = z° - e 2dx
(X) | =
2 2 22 2 L L2
C1Ny - & zde 2 = —— e 2dr=1.
V2T Jo V2T J;J

o ML, Y = X4 ~ N(0,1). W

X —EX = (u+0Y)— (u+0EY)=o(Y — EY)
=var(X) = E(o(Y — EY))2 = o%var(Y) = o
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o —ffiHh, X M EAAAE, Hvar(X) > 0, U

X -EX
var(X)

*

WL EX* =0, var(X*) = 1. BX* NX HIFriELL.
o SENT.3. kMr(JEM)MEREXE.

EXT 4 kR ODERE(X — EX).
o ENTS5. &

P(X <a) <p< P(X <a),

WHka HX A SR
p = 0.5 i, #Fka Jy—Ahfir .
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